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Mole fraction of a gas

Na FIFI ng 100

na Bigger o

FalacingchEicacequatms

PEEITÉIEHO
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StoichiometryTypeauestion

oggvolunits
TagsId

ayyy
MLA

PVNRT

f
density Punt

FEEIA ga motea mile B g B others

I 6.022 1023
B

solutions A solutionsB

A B C t D

g g

LimitingReagent Problem
A B C D
X g 99 g

Lg
Smallest answer
for C is correct



Percent Yield type

A B C D
X g yg actualyield

jeoretical go

yield Isheffagx 100

ÉÉI Iz g of methyl acetate CzHuo is

Combusted with excess oxygen how many
grams of water will be formed

2 C34602 702 6 Coz 6 H2O
7 62g g

g CzHaz mole CottaOz mole Ho g Hao

Cz 0 3 12.01 6 x 1.008 16.00 58 078g mole

H2O 2x 1.008 16.08 18 016g mole

exact

aol.it EioEtiIoeitiif
7.09 252 g420 7.099420inch



ExamplelimitingReagent

ZO F EE
13 tires 9 frames bikes

1 Bikes

237.2g of methyl
acetate Cottus is combusted in

a chamber with 109.7g of oxygengas Howmany

grams of water can be made

2 Cz Oz 702 6 Coz 6 H2O

237.2g 109.7g g

smallest

A g.cz60z smoleCzHz0z moleHao gHao

B g 02 mole Oz moleH2o 9h20



A 237.2gGHQ T.IE Ejg it8fItd
220.740824g H2o

B iotifozxE.EE EeOxmietzo
52.9318085gH2O smallest

52.9494207211
Iron is produced by heating Feroz are

in a blast furnace with carbon to produce
Iron Fe and carbon dioxide

If 207.9 kg of Feroz are heated

with excess carbon and produce 62.9 kg
of Fe what is the percent yield of

the reaction

Feast 34 Fees 3 Cozat
Fe 44 Fe V4
O B 6 O Z 6C X 3 G X 3



2 Feroz 3C 4 Fe t 3 Coz

207.9kg excess

ftp.gkgaeactualyield
xioo

kgFeroz gFed molefed mole Fe g Fe kgFe

Feroz 2 55.845 3 16 159.69glmole
Fe 55 845gmole

204.9kgFees xÉÉÉÉx Ég jÉÉÉEos ÉÉxÉÉ
145 408923kg Fe

yield Eetgftffgxwo.EE tgt xioo

43.2657317

43.3 yield


